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Note : The paper contains three sections A, B and C.

Instructions are given in each section along with marks.

SECTION - A
Attempt any two questions from this Section :2x12=24

1.  Whatis meant by income inequality ? Distinguish
between ‘Personal’ and ‘Functional” distribution
of income. Suggest measures to reduce inequality
of income and wealth.

2. Explain the Circular Flow of income. Explain the
roles of the house hold, firm and government in
the Circular Flow.

3. Explain the determination of Consumer’s
equilibrium through indifference curve analysis.
Also state the conditions of Consumer’s
equilibrium.

4. What is Monopoly ? How are output and price
determined under Simple Monopoly ?
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SECTION - B
Attempt any two questions from this Section : 2x8=16

5. Explain the concept of Consumer’s Surplus. Does
this concept have any utility in Practice ? Discuss.

6.  Critically examine the Ricardian Theory of Rent.

7. Bringout the relationship between Total, Average
and Marginal costs.

8., State and illustrate diagrammatically the Law of
Variable Proportions.
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SECTION - C
9. Distinguish between any two of the following :
2x5=10
(a) Monopoly and Oligopoly
(b) Economies and Diseconomies of Scale.
(c) ‘Normal’ goods and ‘Inferior’ goods

(d) Price elasticity and Income elasticity of
demand.
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5.  IuvIRn AUEN F FGUROT HT RS T 0
ZEER H TH STAURUN Ht $B Sy ¥? fad=w
HifeT |

6. TrEt & ovm fagia =1 eTereATeTs ghem Fifvg)

7. o arm, shaa ama gy @i wvra ¥ e ¥ ey
! S FHIT |

8. iad=eie sTAm Fram ) YEfas =t gerea | sren
HIfST |

ECO-6 6



Qug-T
9. frafafaa @ 27 o<W TaRT | 2x5=10
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